(B - /M) -

B4 [ st 7)) S W%
L — =)
E6E # B % &
38 S s

1. kKP9RiE
(1) Kbk Fv -8
ARARI T (55400) MLOX16nm M/ ke 195
ARAFI T (55400) ‘M12%x1 6 M./ ks 178
FRAFIN - (55400) M10X20nn A/ ks 195
AR (55400) M12X20nn A/ ke 178
~AFN (55400) M14X20nn A. kg 193
AAFN - (55400) M16X20n M/ kg 151
FAF)L - (55400) M10X25np [ kg 195
AR - (55400) M12X25mm b/ kg 178
AR (55400) M14X25m B kg 193
FRAR) - (35400) M16X25mm g, kg 151
FRAARV b (35400) M10X30mm B kg 195
AAAN - (55400) ML2X30mm M ke 178
)L b (58400) M14X30mn M./ ks ]
AR~ (55400) M16X30mm A./ ks ]
A AFIY - (55400) M20X30mm 2k 5
AAFN T (55400) M22%X30m kg 5
AR (55400) M24X30mm M. ke 1
FAR)L B (85400) MI0OX35mn M./ ke [95]
AFFEN T (85400 ML2X35mn M. ke 178
FAFI - (55400) M3i4X350m A./kg 193
A AFI - (55400) M1GX35mm B./kg 151
AAF - (35400) M2 0% 35mn H./ke 151
AR b (55400} M2 2X35m M./ke 156
AR (83400 M2 4% 35m B/kg 161
7L b (85400) M10X40mn M. ks 19

| RATILF_(53400) M1 2 X4 0nn O ks | ©-3F5
AR (55400} M14X40mm M,k 193
SAFN - (55400} M15X40mm M. ke 15]
AATIL (5300 M2 0X40mm H/ks 151
AR (55400) M22X40mm M./ks 156
AR b (55400} M10X45mm A./ks- 190
FRATI & (534003 M12X45um H/ke | #-3-P58] -

k16 HBHRES M xIs 1/16
, {88455 - )
ey ] i | T — i =
A b (55400) M14xX45m M./ ke
AN k(55400 M16X45m M ke
AABNF (35400 M18X45mm M. ks 46
AR (55400) M20X45mm B ke 151
FAF - (35400) M22X45mm A./ke . 156
AAFN (55400 M24X45m M/ ke I61
F AL B (35400) ML10X5Omn M. ke 185
ATy (55400 M1 2X50m [l ke 3]
AR R (35400 M14X50m M. ke g
AT F(55400) M16X50m g | #-3-P>
7oA B (8S400) M18X50mn M. ks 2
oAV (53400 M2 0 X5 0mn kg | Bi-3-Pa
AT (35400) M2 2X50m B ke | 235
AR )L b (SSA00) M2 4 X5 0ne g | #@-3-Pa
Aol B (85400) M30X5 0nn M. ke 114
FRASE)L = (55400) M10X55m M.~k 185
AL (85400) M1 2 %5508 i ke | EE-3-Fh3
AT (55400) M14X55mm A./kg 193
ARARI L (53400) M16X55mm M. ke 151
AR (55400 M18X55nm M./ke 246
S T (55400 M2 0 X5 5um B ke 151
FAAR L (85400) M2 2X55m M./ ke 156
AEFN b (55400) M24X5 5um H.ke 161
AR N (55400) M30X55mm M./ ke 214
FAFI F (55400) M10X60mm 0./ ke 185
RARI F_(53400) M1 2X60m N kg | B-3Ts
AT (55400) M14X60m M./ ke 193
AL R (S5400) M1GX60mm 0. ke | 2=-3-P5R
AR b (55400) M18X6 Qmm H.~ke 248
ARAAUL F_(55400) M2 0 X6 0um kg | E-3-P5
Akt (55400) MZ 2X6 0m F.~ke | #-3-P50
FfaatJl - (SS400) M2 4 X6 0 kg | #E-3-P50
AATN T (55400) M3 0X6 0mn . ke 214
FARN R (55400 M36X60m g./ke 238
HRARN - (55400) M10X65im M ke 185
FnA T (55400) M1Z2X65mm A/ ke | EE-3-P58
AT E_(55400) ML4X65mn M/ ke 193
k16 R AR xIs 2/16



(B : F}

e s [y E— EH i
7AE5RJ | (S5400) M1 G X6 5mm M ke 5
AT (58400) ML1BXG6 5um M. ke 4
ATV~ (55400) M2 0X6 5un M./ ke 5
AT - (55400) M2 2X65mm M./ kg 155
AAFN L (55400 M2 4X65mm F./ke 161
AT (55400) M30XB5mm M. ke 214
ABFN b (55400) M3 6X65mm M. ke 238
AAFN T (55400) M10X70mm Ak 180
AT (53400) M12X7 0mn M. ke | #-3-P58
AARN L (55400) M14X70mn Ak 193
AATIY I (55400) MI16X70m B kg | #-3-Pa8
AARN L (S8400) M18X70m M kg 7246
FRAanIl F_(55400) M2 0 X 7 0mn [ ke | #-3-P58
RATRNE (55400) M2 2% 7 0mn M. ke | #&-3-P50
AT T (55400) MZ 4 X7 0mm g | &-37s
AETNE (55400) M30X70m M, kg 214
AATIF (85400) M36X70mn M/ ks 238
AATI (55400 M10X75mm . ke 180
7oA b (85400) M12X75mm A ke 178
AEAL R (55400) M14X75m M. ke 193
AR+ (85400) M16X7Son A/ ke 151
AAFRIE(55400) M18X75m M./ ke 246
RaaL k_(55400) M2 0X75m M./ ke 151
AT R (S8400) M2 2X7 5 M kg b
FoAAR I b (S5400) M2 4X7 5um M./ ke 1
AAAI b (55400) M30X75m H. ke 214
AL b (33400) M36X75mm B ke 238
AAFIN - (35400) M10X80mn M./ ke 205
AR F_(55400) ML 2X8 0un M. ke | ZE-3-P
AR (55400) M14X8 Gun M./ ke 223
AT - (55400) M1 6 X8 0o H.7ke | B3P
FAFI - (85400) MIBXRE 0nmm B ke 24
AAEFIVE_(55400) M2 0X80m g | #-3Pb
SATJL - (55400) M2 2 X8 0mn A ke | @-3-PF5
Ay E_(55400) M2 4 X8 0nn g | §2-3-Ph
AR (85400 M30X80mn M./ ke 214
FBdUL I (83400) M3GXB0mn M.~ ke 238
kk16_B R Ex fi.xls 3/16
{BE : [
B st T B s
AR - (55400} M4 2X%380mn A kg 261
AL (55400} M10X85mm M.k 225
AARINL T (55400) M1 Z2X8 5 H. ke | B-3-P58
AT (55400) M14X85mm F1./ke 222
FAFN bk (55460) M16X85m M. ke 151
AARN T (55400) M18XB5mm M. ke 246
AL L (55400) M2Z0X85m M. ke 151
AEFN L (55400) M2 2X85m M./ ke 156
AERI - (53400) M2 4X 8 5mm A ke 161
FERI - (S3400) M30X85m M./kg 214
FAAFI b (55400) M10XS5 Omn B ke 20
| AATIL (85400 M12X9 0m kg | ¥E-3-Pb
AR (534D M14%90mn M. ke 22
AR (55400) M1&6X9 0m M. ke | $E-3-Pb
AAFI (55400 M18X9 0m M ke 24
AETIL R (55400 M2 0 X9 0mn A ke | @3 Py
AAAJY E_(55400) M2 2 X9 0mn g | ¥E-3-Fal
EEEIL ~(55400) M2 4 X9 0an H.ke_| #2-3-Ps)
AR (S5400) M30X9 0mn B ke 4
Sl b (55400) M36X8 0un 3. ke
AAAIN b (55400) M4 2X8 0mn M./ kg
ARk (85400) M10X100mm M. ke 5
AAAN - (55400) M12X100m M. ke | &-3-P38
AT (55400 M14X100m M.ke 222
AT~ (55400) MIGXJ10Omm kg | #E-3-P3%
AfFN T (55400 M18X100m A ke 24
ZSARJL - (SS400) M2 0X100mn A/ ke | #-3-P5
AT (53400) M22X100m H kg | #-3-P5
AT (35400 M24X100m N %e | #-3-P5
FAmEN R (55400) M30%X100m M/ ke 214
ARAFN T (53400 M36X100nn A/ ke 238
AARIL R (53400 M4 2X100m M. ke 261
AAFEN - (83400) M48X100m M. ke 285
AAR - (55400 M10X3110mm kg 200
AR b (55400) M12%110m B ke 227
AR - (85400) M14X110m B/ ks 222
<Ay (55400} MIGXL10m B ks | ZE-3-P58
kk16_RIRER IR xls 4/16



(B4 = F9)

e s B —ETE i
SEmtl (58400} M18X%10m M./ ke 246
AATIL (55400} M20X110un M. 7ke | #-3-Po8
AL b (85400 M22X110mn M./ ke 158
AR~ (S8400) M24%x110un M. ke 161
AL (85400 M30%X110mm M./ ke 214
AR (35400) M36X1i10m H./ ks 238
ZAAL b (55400} M42X110m B/ ke 26
AL B (55400) M48X110m M. ke 28
F AR (55400 M10X120m M./ ke 200
AATI (55400} MI12XE20m H. ke | #-3-P50
ZAFI - (85400) M14XE20m Ak 222
AR F_(S5400) MI1GX120m ke | 3E-3-P58
AARN B (85400) M18X120m M. ke 246
RARI (55400 MZ0X1i20mm N ke | E-3-Psgl
AR E (554007 M2 2 X1 20m kg | BE-3-P50
AL (554003 MZ24X120mm M. ke | H-3-P50
AHI - (S5400) M30X120m Ak 214
AR (55400 M36xX120m M[./%8 238
FAFI b (55400} M42%X120m M. ke
AARN b (85400) M48X120m . ke 285
AAFEN - (55400) M10X130m M./ ke b
AAFN b (55400) M12X]i30m M. ke 227
AR b (SS40D) M14X130m M. ke 22
Al (5S40 M16X130xm M. kg | #-3-P5
A AR (55400 M18X130mm M. ke 24
RERIV F_(55400) MZ0X130zan kg | B3P
ATV B (55400) MZ22X130m A/ ke 56
A AT (55400 MZ24x130mm kg [
AAFI P (55400) M30xX130m b ke 4
73/ b (55400) M36X130m o kg 238
7 AL b (55400) MA2X130m [./Xg 261
7R b (55400) M4 8X 13 0un ke 285
7 AHI - (S5400) ML0.X140m A./ke 20
73 b b (SS400) M12xX140m ./ ke | #-3-P5
AR b (55400) M14X140m M./ ke 222
AP (55400) M1B8X140m H. kg | 3E-3-F58
7ARN - (35400) MLBX140m M. ke 745
kK18 HE R ER (. xls 5/16
(3405 )
Ra R ¥ 1S e
AT (55400 M20X140u HA./kg | #-3-P58
#AAFIN b (85400) M2 2% 140m A ke 156
AR b (S5400) M24X140m0 A ke 16]
AN (55400) M30X14Ou M. ke 214
AATN - (55400 M36X140m M. ke 738
AR (53400 M42X140m A ke 261
AN - (55400) M48X140m M.k 285
AEL - (53400) M10X150m B/ e 200
ATl b (So400) M12X15 Om . ke | $A-—3-P0
FoAHIL B (85400) M14X15Omn M./ ke 22
AATIE (55d00) _  [MIGX150m H./ke | FE-3-P5
FAd - (55400) M1B8X150m ./kg 24
7RIy (53400 MZO0X150m kg | BE-—3-Pb
ATV (53400) M22X150m M. kg | E#-3-P5
AR, [_(55400) MZ2X150m kg | #-3-Pa0|
B b (53400) M30X150m A/ ke 214
AR (55400) M3G6X150m A ke 238
AR R (55400) M42X150m A/ ke
FAd) b (55400) M48X150m ZXe ]
AL B (85400) M10X160m ke ]
FAERI B (85400) M12X160m M. ke i
AR F (55400 M14X1G60m M .kg 228
AAFN B (SS400) M16X160mn M. ke 200
A - (55400 M18X160m M./ ke 220
A& (53400) M2 0X160mm M./ e 200
AAAIL - (55400) M2 2X160mm M. ke 204
&I (55400) M24X160m M. ke 214
AR (SS400) M30X160m F./kg 214
AR B (55400 M3G6X160m M.~kg 238
FARIL B (8S400) M42x%160m 0 ke 261
AL B (55400) M48X%160mm M.~ kg 285
AR (55400 M10X170m M./ ke 225
AR B (554000 M12X170m B ke 227
FAEAL - (85400) M14X170mn F/ke 222
AL B (53400 M16x170m M. ke 00
AL B (55400) M18X170m M. kg 20
AR R (55400 M20X170m B ke 00

kk16_HEHE 2Rl xls 6/16



(B4m - /)

B Big B g L2 e
AAFN T (55400 M22X170m M. ke 4
AAFN L (55460) M24X170mm M ke 4
AAFEN T (55400 M30X170m M. kg 4
A AT (55400) M3GX170m M./ kg 238
AL (85400 M42X170mm A/kg 261
FAFIN L (55400) M4B8X17 Om M.ke 285
AR (S3400) M10X18 0mn M./ ke 225
AEFRNE (85400) M12X180m A/ke 227
AAAI B (55400) M14X180m Bk 222
AR~ (55400) M16X180mm M. ke 200
F~ERIL b (85400) M18X180m B/ ke 28
AT (55400 M2 OX180m g | §i-3-Po
FARI (534003 M2 2X180m I kg | 4a-3-Fa
ARATIL F_(55400) M2 4X180m A kg | Hi-3-
~EFIN) F(58400) M30X180m M./ ke 214
7AFN b (858400 M3GX180mm M. ks 238
AAHFN (53400 M4 2X180mn M./ ke 2
AAFIN - (55400) M4 BX 18 Omm 9. ke
AAHN (554003 M10X190mn [ kg
AL (55400) M12X190mm ke 27
7RAFIN (85400} M14X190mm M. ke 222
AADI I (55400) M16X190m M. kg 200
Fagal - (85400} M18X190m B ke 220
AR (55400) M20X100mm 8. ke 200
AAFRN b (55400) M22X190m M. ke 204
AT b (55400) M24X100Omn M.~ ke 4
FAAN T (55400) M30OX190mm M, ke [
A - (55400) M36X190m M. ke 3
FAFL b (55400) M42X19Cm A/ ke B
ZARN T (554000 M48X190m M. ke 285
AR (55400) Mi10X20Omn M. ke 225
FER)L  (S8400) M12X200n H./ke 227
AAFN T (55400) M14X200mn M. ke 222
ABTIN T (55400) M16X200mm A ke 200
AR (55400) M18X200m B./ke 220
ARl T (o0d00) - M2 0X200mm Z kg | i®-3-P50
SRl b (S3400) MZ2X200m . ke | #%-3-F51
kic16_HE 4R ARl s 7/16
- (EAE : 9)
B s Ty S— ER %
AT (534003 MZ4xX200m M. ke ~3-P5]
AHEFN (554000 M30X20Om B.~ke 214
FAFN Y (85400} M3G6X200mm M. ke 238
A b (85400) M42X200m M./ ke 261
AR (85400) M48X200m A/ke 285
AR (55400} M42X2 2 Cm M ke 2
AAFIL - (55400} M48X220m 9. ke
AR (85400) M42X24 Om M /kg
ABFI - (55400) M48X24Oun . /kg 5
AAFUY b (85400) M42X260m [ kg 261
AL T (55400) M48X260m M. kg 285
AAFN T (55400) M42%x280m M./ kg 261
A& (55400 M48X28 0mn B ke 283
AAFN T (55400 M42X300m M. ke 261
AR b (55400) M4 8X300mm M.k 85
AARNE (SU5304) M8 X2 0mn M.~ kg 06
AAFN T+ (S15304) M10X20m M. kg 11
AR (SUS304) M12X20m M. ke 113
AL B (565304) M8X25nm M. %e 707
AAEFI N (S05304) M10X25m Ak 11
AETIL N (505304 MI12X25m M. ke 111
Al b (S5304) M16X25mm M. ke 664
FAL B (S15304) M8 X30m B/ ke 712
ALk (SUS304) M10X30mm A ke 708
AR (SUS304) M12X30m A ke 712
AEFL L (SUS304) M16X30mm ke 664
AL (SUS304) M8 X3 5mm M./ ke 709
AAHEN T (US04} M10X35mm M.~k ]
AARIN b (515304) M12X35mm M. ~kg ]
AAHN - (5U5304) M16X35mm M. kg 665
AT (SU5304) M8X40m H. ke 709
AR (SU5304) M10X40mn M ke 711
AR b (SUS304) M12xX40mn M. ke 711
AR b (S5304) M16X40m [/ kg B64
AARN R (SUS304) M20X40m A, kg 711
<AL+ (SU3304) M8 X4 5un A kg 708
Kk16_HEHEERf x!s 8/16



(Bl F)

Y sty M i ik
7 R (SUS304) M210X45mm A~ kg Til
AR (SUS304) M!2X45m B. ks T
ARFI b (SUS304) M16X45mm 8. kg (65
~ERI B (SUS304) M20X45m P ke 705
7~AAI b (SUS304) M8 X5 0m M. ks 711
RAETI (505304} M10X5 Onn ke 712
ARN b (SES304) M12X50mn . ke 711
AAFN - (65304 M1G6GX50m M, ke 665
A+ (515304) M20X50m .~ ke 708
AR (SUS304) M8 XS5 5un 9. ke 710
FoAaFN  (SUS304) M10X55m M./ ke 112
ARl - (SUS304) M12X55m M.~kg 712
AR b (S18304) M1GX55m A ke 65
AL b (SU8304) MZ0X55mm M./ ke 105
AT+ (515304) MEB8X60m M./ ke 1)
IRl b (SUS304) MI10OX60mm B kg 0
FiBR) b+ (SUS304) M12X60mm M. ke 2
ARl k. (SUS804) M1G6X60mn M. ks i}
AR - (SUS304) M20X60m MR ke 09
AR (SUS304) MB X6 5mm M. kg 0
AARN - (SUS304) M10XG65mm M./ke 711
AR F (SUS304) M12%XG65m H.ke, 71l
7ARNL - (SUS304) M16X06G5mm M/ ke 664
AN (S0S304) M2 0X8 5m H.ke 713
AT (13304 M8 X7 0mn /9. ke 7]
AL b (SUS304) M1OXT70mn 9 /ke 71
AARIN B (SUSID MI2X70m 2 kg |
AABRI B (505304) MI1I6XT70mm ./ ke 65
AR B (308304) M20X70m M. ke 71
RN B (SU8304) M8 X7 5mm M. ke 710
AARI (505304} M10OX75mm MH./kg 712
ARk (SU5304) M12X75nn M. ke 1
PRI R (SUS304) MI16X75m M/ ke i
AR~ (SUS304) M2 0X75m M ke 106
AR (SUS304) ME X8 Omn M./ke 710
AR (SUS304) M10X80m A.ke 711
kil 6_HEARER S xIs 9/16
(B : )
R . 77y E— L %

AR B (505304) M12X80mn B/ kg 712
FREGRIL b (SUS304) Mi16X80mm M./ ke 661
AR (SUS304) MZ20X8 0mn B ke 710
AAFIN b+ (S05304) MIOX85Emm M/ ke 710
AR (SU5304) M12X85m ke 712
AR+ (SU5304) M1G6X8 5m ke §3
7oAl b (5U8304) M2 0X8 5mn ke 0
AR B (505304} MBXS0mm M. kg 1
AR b (505304} M10X90m M. ke 1
AR b (505304) M12X90mg M. ke 71
A (SUS304) M16X90nmm H./ke 659
AR (SUS304) M20X90m M./ ke 710
7<A:R)L B (SUS302) M8X100mn M. ke 711
ARk (SUS304) M10X100omn M. ks 711
AARN b (SUSI0L M12X100mm H./ke 712
AAERN B (SUS504) M16X100mm A/ ke B63
AAFN - (SUSIND M2 0X100un B ks u
Nl b (SUS304) M10OX35mm M ks
MAN - (505304} M12X35m B/ ke
ma L~ (SUS304) M16X35mm M. kg -
MR- b (505304 M10X40mm 8. kg 610
maL ~_(5US304) M12X40me M./ ks 1, 860
ML - (SUS304) M16X40mm B kg I, 940
ML - (SUS304) M10X45m M. ks i, 530
Mz = (SUS304) M12%X45xg B/ ke I, 880
Mz (SUS304) M16X45mm M. ke 1. 940
mas ) = (SUS304) M10X5 Omn g ke . 500
Mt b (SHS304) M1 2X5 0umn . ke il
MM b (SUS304) MIGX5 Gun M. ke 90
MBI - (SUS304) MIOX55mm M .ke , 64D
WA (SUS304) M12%X55m M. kg . 830
AL - (SUS304) M1 GX55mm M ke 1,920
MR+ {S05304) M10XG 0o M./ ke 1. 590
ML b (SUS304) M12X60nmm H. ke 800
ML - {SUS304) MI1G6XG60m 8. ke 830

(505304) M10XG65mm B ke L 560

matn -

Kk 16 MR R (R xIs 10/16



(B - [9)

e His B —ETR it
I )L B (SUS304) M12X65m B. ke 1. 770
ARy b (SUS304) M16X65m M./kg 1, 820
AR - (SUS304) M10X70mn ke 1,540
A - {SUS304) M12X70mn ke 1, 780
Ak - {SUS304) M16X70m kg 1, 770
ma)L - {S05304) M10X75m M./ke 1, 55D
m:R )L - ¢S05304) M12X75m MA.ke 1, 700
M) - (5US304) M1 6X75mm A/ ke 1, 720
MR b (S05304) MI12X80my . ke 1, 650
M) b (SUS3nd) M1GX80mn B/ ke £, 770
Fu b (55400) M8 B ke 202
Fw b {55400) M10 B ks 203
Jw F {55400) M1l2 H kg 206
Fu b (85460) M1l4 M.~ kg 198
v b (85400) M16 M/ kg 162
Fw b (SS400) M18 M. ks 220
_ vk (8340D) M20 A./ke 169
Fw k- (85400) M22 B ke 176
Fv I (85400) M24 H. ke 226
Fv b (85400) M30 B ke 245
- I~ (854000 M36 M. ke 26
Fw | (S8400) M4 2 M. ke 347
Fw b (55400) M48 M. kg 7
Zw b (SUS304) M8 M. kg 4
ey b (SUS304) M10 M./ke 1, 008
F o b (SUS304) M12 M./ kg 1. 084
Z o (SUS304) M14 A./kz 1. 388
o b+ (SUS304) M1l6 B ke 903
Fw b (505304} M138 B ke . 38
Fo b (SU5304) M2 0 B kg L 077
Fw b (508304) M22 M kg . 559
= - (SUS304) M24 B./ke 1,491
v b (SUS304) M2 7 H./ ke 1, 489
- b (S0S304) M30 A/ kg 1. 486
- bk (SUS304) M36 M.~ ke 1,573
+w b+ (SUS304) M4 2 [ 1, 541
k1 6_HEBRER (H.xls 11/16
(845 : M)
e i ¥ 4g1H B
&F o b (55400} M8 4/ kg 431
& b (55400} M1 0 M. kg 380
S+ b (55400} M12 A./ks 387
{F e b (55400) M14 1./ kg 503
& b (SS400) M16 M./kg 455
£ b (55400) MZ0 M.~ ke 583
437Fw b (53400) M2 2 M.k 62§
£ - (55400 M2 4 H. kg 782
£Hrw (55400 M2 7 HA/ke 966
%3+ + (5U5304) M8 9. ke 2. 444
&3 b (508304 M10 B ke 2. 423
Kt b (5U8304) M12 9./ ke, 2. 401
&+ b (SU8304) M1 4 M. kg 3, 074
£ b (SUS304) Mi G M. kg 65
3w b (SU8304) M20 M ke 84
3w b (818304 M24 kg . 789
J IR (35400) M12xX160mm M. ke 352
VBRI B (55400 M16X160mm M. ke 252
J BRI b (S5400) M12X200mm A/kg 313
T BRI b (S5400) M16X200mn A/ke 226
JEE#A L b (S5400) M20X200m B ke 258
J EBAN b (55400) M12X250nmm [/ ke 19
TR b (55400) M16X250m M kg 10
TEHEBR) b (S5400) M20X250m M kg 42
T IERBETOL b (55400) M12X315m kg 304
JERETIL + (SS400) M16X315m M./kg 200
] EREER )L b (SS400) M20X315m M. ke 228
T RS b (S5400) M12X400m M./ke 276
T RS (85400) M16X400m M.~ kg 182
J FEEBERI B (55400) MZ20X400m A ke 214
J AL |- (55400} M12X500mm M./ ke 264
JIBERAI (55400} M1GX500m M/ ke 182
JBERBLEL b (55400) M20X500mm 8. ke 203
VBRI R (55400) M24X500mn M./ ke 202
J EEAL & (58400) M20X630m MB./ke 203
IR b (S5400) M24X6 30mm M. ke 205

Kk 16_8H B .xls 12/16



(4% . )

PR Bk B g TH 4
J RN b (55400) M20XS800mm A ke 192
I BRI I (35400) M24X80 0m B ke 194
J RN b (55400) M20X1, 000mm A ke 188
J REEEAL b (55400) M24X1, 00 Onn M. ke 185
J R b (58400) M24X1, 250pm M. ke 188
LBEEERL - (85400 M12X160nm A ke 374
LRl - (85400) M12X200mm M/ ke 331
L AL - (35400) M16x200mm H.7ke 254
LIZERA)N - (85400) M12X250mm [/ ke 295
LIEEEN (85400 M1G6X250mm H. ke 3
L LAY b (554000 M12X315mm M./ ke 4
L B atisaA )l b (55400) M16X315mm 8./ ke [
L BREAR) - (35400) M20X31 5mm b ke 220
LRI - (58400) M12X400mn B ks 259
LBEHEB:R R (SS400) M16X400mm M kg 205
Lg3saeaL b (§8400) M20X400um B kg 210
LIBHEEARI B (85400) M12X500mm M. ke 236
LERERRIL - (854 ) M16X500mn . kg 189
LEwRIL b (858400) M20X500un M. kg 197
(2) &0 - i Ery e
EO—F—¢110~120 RS SC450 M/ ke 610
[ s ERBE S SC450 [ kg 610
HENr— (F—AfD RS SC450 B kg 10
Ea—5—o 110~ {ETY PSS SCHa2R M kg 00
Eo—F—0¢ 110~ A LRSS SCHnCr3B  |M kg 805
ER—Z—d110~ JOLESS ¥ EEEE  SCOrM3E [M.7ke 705
ASALAZI U AW PRC2 m ke 2, 300
HH52 A S M - EARILA SN BT MY LBC3 B kg 2. 000
HHEAY I - BEASN H#eY BC 3 B./kg 2, 000
B EASS, HE AR FC200 M ks 5
WHE TAFESE FL250 [ ke
5% B R AR FC250 B kg 375
BAFAS B HRRESEER  FLD450 B kg 110
FERT RTEHF#L (48  FC250 1M ke 599
Zo5wTH RTLE#L (48)  FC250 |M.ke 665
PSAE (iR 2N R AESm (48 FC250 |M. ke 823
kk16_H#IRERi.xIs 13/16
(B4% - M)
) ik i3 B —mg kS
HHE LRSS (16 Feba00 - 450/ ke 927
IABHE R HRBM  SC450 M./kg 3, 060
HwFu IR ML SC450 M. ke 1, 280
mwjmmzmwa%mm*mﬁtnw A/m3| 151000
) 1. o, 53 HhHDETS,
2 J:‘aaﬁﬁmiﬁﬁk Ui e L. BEmOHEImE ST S,
3. AEBHOBERHmMIE TS,
(3) AT LR - SAPER O ok o P b a4
B (R ATV MRIE A -MEik SIS0 2=t =3 M. ke | #-3-P42
At (M) EIEATVAME A~ 4G |olo304 3% t =b B %e | &-3-P42
%N (AR FEEADVGEE  3RbsEISUS304 F<Ct =14 M. ke ] o S L
W (AR FEEAIAEE  1i2boRH[SUS304  14<{t =2 M.~ke 2 AN K tS
W () EREVARE 1k ISUS304 26t 54 ke ] L B S ]
R (B IEMAFVVAME  132b8[SUS304  J0<C t =6 kg 4 A -1 A L6
ATl A ND? SUS304 2539_3 0 kg | $B-3-D4
ZF L ARE 98 SUS304  100<< p =150 m./ke 20 W3 BSeSIN
ATV ZEE 358 SUS304  150<< =200 M./ke ] n-d S eSIN
AT ABE A -AEl SUS403 25=¢ =100 M. ke 250
AF LV ARE 35 SUS403  100<< p =150 M.~k 20 N3 S eI
AT L 2WE 3G SUS408 150<C ¢ =200 M. ke 20 w2 2Bsmas)00
| RS T i Se AR E] A AR |51 50~ 3000 _25= ¢ =100 kg | ¥E-3-P43
BRARHEE M e 1321981 [S15C~8500 100<C =150 M./ke 2 N3 BE e =100
ARARIESE D R 13215 [S150~850C  150= ¢ =200 A ke 4 -3 S G100
Bk E m A 1358 [S150~SA0C  200<C ¢ =250 M./ke b Nl BE a0
BEPERE S i S 13198 |5150~5500  250<C & =300 M. ke 3 w3 S e=100

#H) L D OEMRA—IEETHS, REHBEECTDICE, WRABRTIS S v TEHEETIZ L.
2. (Do THRFEMESEMESCA50) OERITDWTIZAEL ¢ 00mEF T, HME#EENEMZBOIIDNTIZ

(3) TS A S15C~850C) @fi)ﬁ’&%{a?"z)
(4) KEdAL

KEDL (PR 205k kg 3. 860
KEIL (PRI 20~50 ke 3,860
KEIL (PEE) 50~70 kg 3, 860
KEDL (PRH) 2054 kg 3. 86
KEITL (P 20~50 ke 3. 860
KEDL (P 50~T70 kg 3,860
KEITL (L) 205k 5 kg 3.8

KEITL (L) 20~50 kg 3.8

167

kk16_ B E f.xls 14/16



(BT : 1)

B s B g R v

KETL (LB 50~7 kg 3,860
RED A R (5B ke 3, 150
KED A (L) 0~ kg 3,750
23] K ETLOERERIE. FOLROEE Co 5.

I ME:E&RIA (FJOoOoFL—20F)

2. EEE: 14 TN /mm? (150ke/cm?) BiE

3. ok HEHCRAI%

4 WETRROMHU : 300% Bk

5. FEEE: i3 PEEEELI~20

6. FT:L2 g cod
(5) /SwE> (SEEOA)
Ny® > (FRIL) BO0__ |0 M./ 3,790
NuE (FRIH) B0G_10%c~ 208 B/ 3. 430
RoEs (BHRIh) 700 108k M/ 5. 230
Rv¥ o (BHRITL) 700 104~20% M & 4, 500
ARwE s (BETL) 200 J0ERE ZPE 7,920
Ry ¥ (ERITL) 800 104~ 20%% B/# 7, 200
Ry (EHRTL) 900 10HCE# B/ 9,000
v (GHRTA) 900104~ 204% /% 8. 110
RwF s (FHRTL) 1. 000 105K P 3,910
NyF> (BHRTL) 1. 000 105~20% /4% 9, 000
vz (GlTL) 1, 100 108K ZPER 10, 800
Ny¥> (@BETL) 1. 100108 ~20%% A% 9,010
Ry T (BRTL) 1. 200 103K /% 11, 700
RyF > (BHTL) 1.200 108k ~20% /% 10, 809
Iy > (BT h) 350 10HCRE A/ # 13,000
Ny (BEIL) 350 ) DR~ 20%L B/% 12. 600
N> (BhTh) L 500 10H R A/ 14, 400
Ny ¥ (SETL) 500 10#~204% EVE: 13, 500
Ny %> (BRTA) 1,600 [0#CER B % 15, 600
Ry¥ > (BkIh) 1. 600 j0#~20%k VE3 14,400
Ny F > (BRIL) 1.650 1Ak # A% 17, 600
EPENEC T =IN 650108~ 704K A% 16, 200
Ro%y (BRI L) 800108 /% I3, 900
R (BEdh) 800108~ 208k /i 8, 200
Roto (@HETA) 2,000 104k [EVE 8 1. 00
NowF o (BRTA) 2, 000104~ 203K M /#% 5,800

kk16_#REX R s 15/16
(Bl - /M)
B4 e Ty — i i#%
Ny ¥ (Bhdb) 1, 800X 2. 600 E A/ 10. 800
Nux > (BHIA) 1, 800X 2, 60 ~ 908 M/ 9,010
¥ (GFRIL) 2, 0002, 900 10%cHRRS A% 10, 800
Ry Fr (ERIL) 30002, 900104k~ 208 M3 11, 700
kk16_ PR E M xIs 16/16

168



